
 6x+8y=38  -9x+9y=0

 4x+3y=23  6x+3y=54

L= {5|1} L= { ___ | ___ }

 -7x-8y=-65  -6x-3y=-57

 -6x-3y=-48  -3x-4y=-36

L= { ___ | ___ } L= { ___ | ___ }

 2x+8y=18  4x-9y=-31

 -4x-4y=-24  -2x+7y=33

L= { ___ | ___ } L= { ___ | ___ }

 6x+8y=30  4x+5y=26

 -4x+6y=14  2x+4y=16

L= { ___ | ___ } L= { ___ | ___ }

 2x-5y=-4  -2x+8y=52

 7x+5y=76  4x+9y=71

L= { ___ | ___ } L= { ___ | ___ }

Bestimme rechnerisch die Lösungsmenge L des linearen 
Gleichungssystems.
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6 8  6x+8y=38 -9 9  -9x+9y=0

4 3  4x+3y=23 6 3  6x+3y=54

5 1 L= {5|1} 6 6 L= {6|6}

-7 -8  -7x-8y=-65 -6 -3  -6x-3y=-57

-6 -3  -6x-3y=-48 -3 -4  -3x-4y=-36

7 2 L= {7|2} 8 3 L= {8|3}

2 8  2x+8y=18 4 -9  4x-9y=-31

-4 -4  -4x-4y=-24 -2 7  -2x+7y=33

5 1 L= {5|1} 8 7 L= {8|7}

6 8  6x+8y=30 4 5  4x+5y=26

-4 6  -4x+6y=14 2 4  2x+4y=16

1 3 L= {1|3} 4 2 L= {4|2}

2 -5  2x-5y=-4 -2 8  -2x+8y=52

7 5  7x+5y=76 4 9  4x+9y=71

8 4 L= {8|4} 2 7 L= {2|7}

Bestimme rechnerisch die Lösungsmenge L des linearen 
Gleichungssystems.
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